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Thus. the distrtbution will be
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¢ about the g mean &5, »
Example 5. The firs four moments a

ts about the mean. Also evalus
- 4.98. Calculate the momernts L
;1394. 7. 144, 42 408 and 45 o of the distribution. (AKT

Sol. We have, uy = 0.
Moments about mean
w, =0
o = Hy — “1’3 =7.144 - (.294)* = 7.0576
g = Hy = 35 Ky + 277
= 42.409 - 3(7.144) (.294) + 2 (.294)% = 36.1588

TIESTHEE THTRES TTICE: The
= 454.98 - 4(42.409) (294) + 6(7.144) (.294) — 3( 2944

= 408.7896
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o calculate B, we will have to first find the v

alues of p, and p .

)= E] (12
H-(N h_[100)(2)=o.24

n = (Ef“z}hz =[1#°i)(4) = 6.56

N 100
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he measures of
fon: basis of momenta for the following

NKo
Kownouss and kurtosia on Lhe

Iﬂ- 3 -l 5) 7 9
T 1 4 6 4 1 (G.B.T.U. (C.O.) 2011)

¢ of skewness and kurtosis on the basis of moments for the following
ﬂld draw your conclusion: AKT.U. 2015)

5-15 15-25 25-35 35-45 45-55
1 3 5 7 4

10-20 20-30 3040 40-50 50-60
18 20 10
y curve.

quency distribution curve of the following frequency distribution is leptokurtic.
--m s [0 [
| nmm 20 | 7 | &

bout the mean of the following distribution:

M.T.U 2012
distribution and
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Answers
2. B, = 9, Mesokurtic

»8_Platykurtic
1 By=227 (i) 0.17708, 2.9936

% WB=3, Mesokurtic
5 Wh= 0.8889, Platykurtic
(i) p, =0, iy = 16, g =— 64, 1, = 162
v, =-1, B, = 0.6328 ; Negatively skewed and platykurtic
8. (B, =23216, Platykurtic ~ (it) f, = 2.7240, Yes
" W4y =0,p,=36.66, h, = - 85.104, j, = 4373.3832, y, = — 0.3834, B, = 3.2541

) p, =0, u, = 37267.04, My = 1746530.688, i, = 3567851989

= 0-2‘275, ﬂﬂ = 2_5639’ : ‘
& 01,20,8,-25 posttively skewed and platykurtic

‘u‘)nl.oru,ll

251",!-.600 -




